

ROMANIAN MATHEMATICAL MAGAZINE

In any acute $\triangle ABC$ with $\tan A + \tan C = 2 \tan B$

the following relationship holds : $\cos A + \cos C \leq \frac{3\sqrt{2}}{4}$

Proposed by Nguyen Hung Cuong-Vietnam

Solution by Soumava Chakraborty-Kolkata-India

$$\begin{aligned} \tan A + \tan C = 2 \tan B &\Rightarrow \frac{\sin A}{\cos A} + \frac{\sin C}{\cos C} = 2 \tan B \Rightarrow \frac{\sin(A+C)}{\cos A \cos C} = 2 \tan B \\ &\Rightarrow \frac{\sin B}{\cos A \cos C} = \frac{2 \sin B}{\cos B} \Rightarrow 2 \cos A \cos C = \cos B \Rightarrow -\cos B + \cos(A-C) = \cos B \\ &\Rightarrow 2 \cos^2 \frac{A-C}{2} = 1 + 2 \cos B \text{ and so, } (\cos A + \cos C)^2 = \left(2 \sin^2 \frac{B}{2}\right) (1 + 2 \cos B) \\ &= (1 - \cos B)(1 + 2 \cos B) = \frac{9}{8} - \left(\frac{1}{8} - \cos B + 2 \cos^2 B\right) = \frac{9}{8} - \frac{(4 \cos B - 1)^2}{8} \leq \frac{9}{8} \end{aligned}$$

$$\Rightarrow \boxed{\cos A + \cos C \leq \frac{3}{2\sqrt{2}} = \frac{3\sqrt{2}}{4}} \left(\because 0 < A, C < \frac{\pi}{2} \Rightarrow \cos A + \cos C > 0 \right)$$

$$\text{and " = " iff } \boxed{\cos B = \frac{1}{4}} \text{ and consequently, iff } \cos(A-C) = \frac{1}{2},$$

$$\text{that is iff } (A-C) = \frac{\pi}{3} \text{ or } (C-A) = \frac{\pi}{3}$$

$$\text{When } A-C = \frac{\pi}{3}, \text{ then : } \tan A + \tan C = 2 \tan B \Rightarrow \tan C + \frac{\sqrt{3} + \tan C}{1 - \sqrt{3} \tan C} = 2\sqrt{15}$$

$$\text{and solving this quadratic equation in " } \tan C \text{ ", we get : } \boxed{\tan C = \frac{3\sqrt{5}-6}{\sqrt{3}}}$$

$$\left(\because C < \frac{\pi}{2} - \frac{\pi}{3} = \frac{\pi}{6} \right) \text{ and consequently, via } \tan A + \tan C = 2\sqrt{15}, \text{ we get :}$$

$$\boxed{\tan A = \frac{3\sqrt{5}+6}{\sqrt{3}}} \text{ and similarly, if } C-A = \frac{\pi}{3}, \text{ we get :}$$

$$\tan C = \frac{3\sqrt{5}+6}{\sqrt{3}} \text{ and } \tan A = \frac{3\sqrt{5}-6}{\sqrt{3}} \text{ and so, } \cos A + \cos C \leq \frac{3\sqrt{2}}{4}$$

$\forall$ acute $\triangle ABC$ with $\tan A + \tan C = 2 \tan B$,

$$\text{" = " iff } \left\{ \begin{array}{l} A = \tan^{-1} \frac{3\sqrt{5}+6}{\sqrt{3}} \\ B = \cos^{-1} \frac{1}{4} \\ C = \tan^{-1} \frac{3\sqrt{5}-6}{\sqrt{3}} \end{array} \right\} \text{ or } \left\{ \begin{array}{l} A = \tan^{-1} \frac{3\sqrt{5}-6}{\sqrt{3}} \\ B = \cos^{-1} \frac{1}{4} \\ C = \tan^{-1} \frac{3\sqrt{5}+6}{\sqrt{3}} \end{array} \right\} \text{ (QED)}$$